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D x(2x+y) @ 2 ® x
(@)y ® 2x+y

4x% + 2xy = 2x (2x +y)
A711, 2, x, 2x+y, 26,2(2x+y), x(2x+y), 2x(2x + )




D 2 —6x+9

® x2+12x+ 36 @ 422 + 16x + 16

® @)2x2
x4 day + 47 @22 + a3y +25°

@ 2x2
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(@)612—|—2ab—|—b2 = (a+b)?

@ x*+ (a+b)x+ab= (x+a)(x+b)
® a® + 3a2b + 3ab® + b® = (a + b)*
@ a®+b® = (a+b) (a® - ab + b?)

® a*-b* = (a-b) (a® +ab+b?)
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o]zl 479] Fo]9] Yol g2
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A, ©A a2 + 2ab + b2 = (a + b)?
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22 =24 ]=(x-[)?

® 3 @ 4 ® 5

@ 2

(x—1)2

‘ X2 -2x+1




5. @ -4b? & A5-Eofsh?

D (a-2b)? @) (a +26) (a-20)
® (a+Db)(a—4b) @ (a+2)(b-2)
® (a+2b)*

a2 — 4b? = a? - (2b)*
= (a+2b) (a - 2b)




‘ x2 —5x+6 = (x-2)(x-3)




7.  8x%—10xy - 12y? & AFESAS wf, QI A& A 2HAH?

D x-vy @ x+2y ® 2x+4y
@ 4x -3y ®)4x + 3y

8x2 — 10xy — 12y* = 2 (4x% — 5xy — 6)?)
=2 (x—2y) (4x + 3y)
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P 4+4x+3=(x+3)(x+1)

w2tA E8o] 2ol 2{(x +3) + (x + 1)} = 4x + 8 °]Th.




3ab? — 15a’b & JATENTF A7

@ abla-b) @ 3a(b? - b) @)3ab(b - 5a)
@ ab(a+ b) ® 3a*(b* - 5b)

3ab® — 15a*b = 3ab(b — 5a)
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4(x+3) =

(x=2)(x +3) ~ 4(x + 3)
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@ 2x+3
® 2(x-3)
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® x+3

(x=2)(x+3)-4(x+3)=(x+3)(x—-2-

So(x+3)+(x—6) =2x—

(
= (x+3)(x-6)
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siE4e o835k 132 - 122 = 13412 2 A4t

® a®+ 2ab+ b* = (a + b)?
@ a*-2ab+b* = (a-b)*
@)a?-b* = (a+b)(a-b)
@ xX*+(a+b)x+ab= (x+a)(x+b)

® acx?® + (ad + bc)x + bd = (ax + b)(cx + d)

o
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132 -122 = (134 12)(13-12) = 134+ 12 =25
webA] o] g8 FALL o - b? = (a+ b)(a—b) °IFh.
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a-b+c 9 e FsHd?

132-9=(13+a)(13-b) =c

D 154 @ 157 @160 @ 163

® 166

132 -3% = (13 + 3)(13 - 3) = 16 x 10 = 160
a=3,b=3, ¢c=160
sa—-b+c=160




13. x+y= V3, x—y= V2 A d], x2—)? +4x— 4y 2] gt F5A?

@V6+4v2 @ -4z ® 26+ V2
@ 3V6-2v2 ® 4V6-5v2

B

=y +dx—dy = (x+y)(x-y) +4(x-Y)
=(x-y)(x+y+4)
= V2(V3+14)
= V6+4vV2




14. x-47F 5 oA a2 4+ ax+40, 3x2 = 10x+ b 9] FE2l Q14d o,
a-b 9 3F& FolH?

@ 3 @ 6 ® 0 @ -3 @—6

B )

x? +ax+40 = (x - 4)(x - 10)

La=-14
3x2—10x+b = (x—4)(3x +2)
Sb=-8

ca—b=-14—(-8) =6
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@ 2x+1 @)2x+3 @ 3x+1
@ 3x-2

4 +12x+9 = (2x + 3)2 o] B2
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@ (x-y-1)(x+y+6) @ (x-y+1)(x-y-6)
® (x+y+2)(x—y-3) @ (x-y-2)(x+y+3)
@) x-y-1(x-y+6)

B

x—y=r1r & o,

t(t+5) —6=1>+5t-6
=(t-1)(r+6)
=(x-y-1)(x-y+6)
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17. (2x-1)> = (x+2)°2 AL Bx+a) (x+ b) 7} Bk
ol o, a — b o] = FSHH?

® -1 @ 3 @0 @ 2 ©) I

B

2x—1=A, x+2=BZ 23}
(2x-1)% - (x+2)?
=A%2-B>=(A+B)(A-B)
=(2x-1+x+2)(2x—1-x-2)
=Bx+1)(x-3)

La=1,b=-3
na-b=14+3=4




18. 6xy—-8x—-9y+12 = (ax+b)(cy +d) MM a+b+c+d 2 TS
T-otH?

6xy —8x— 9y + 12 = 2x(3y —4) — 3(3y — 4)
— (20-3)(3y-4)
SLatbtc+d=-2




19. the 3+t -1 9] A47hobd AL

D -1 @ x+1 ® 241

@Xz—]. @x2+_x_]_
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x=-3+ Vb & ], x* 4+ 6x+9 O F& FoHH?

x24+6x+9=(x+3)2=(-3+V5+3)2=5




21.

@ a+b+2 @ a-b+6
@a—i—b—i—G ® a-b+5

® a+b-6

B

a+b=ATt5H
A(A+1)-30=A42+A4-30
= (A+6)(A-5)
=(a+b+6)(a+b-5)

whakA Al2o] dole a+ b+ 6 oltt.




22.

o x(x+ D) (x+ 2)(x + 3) + 1 & A5E5fotA?

@ (x> +3x+6)2 @ (x2+3x-1)2 ® (x> -3x+3)2
@ (x® - 5x+3)? @(x2+3x+1)2

B

(2 +32)(x? + 3x +2) + 1

x*+3x=A 2 5tH

AA+2)+1 =A242A+1=(A+1)?
= (x® +3x+1)2




23. a®>-8a-9b® + 16 = ASE3|5H?

@(a+3b—4)(u—3b—4)
® (a+3b+4)(a+3b-4)

® (a+3b+4)(a—3b+4)

@ (a+3b+4)(a—3b-4)
@ (a-3b-4)?

/U)
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a® — 8a + 16 — 9b?
a—4)% - (3b)?
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(
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a+3b-4)(a-3b-4)




24. x® +5xy+2x—-5y—3 = AFE3|5H?

@ (x+1)(x+5y+3) @ (x-1)(x—5y+3)
® (x-1)(x+5y-3) @(x—l)(x+5y~l—3)
® (x+1)(x=5y-3)

x? 4+ 5xy+2x—5y—3
= x% + (5y + 2)x — (5y + 3)
=(x+5y+3)(x-1)




